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MIMO Controllable Canonical Decompasition

ME EN 6210 - State Space Controls — Spring 2003

327703
% Example of dsriving the cancnical form for a MIMO system. for i=1:18 3 5b
% ME 6210 = Spring 2003 = Mark Minor WR{L)mrank(W({:,.1:4))};
A={1 01023501312 0002310;000141; 321021 2jend;
102111) WR
1 a 1 1] 2 k] WR =
o] 1 i 1 2 0 Columns 1 through 13
0 4 2 k! 1 0 1 2 i 1 5 6 [ 6 [ 6
o] 4] 0 1 1 1 i ] 3
1 2 1 [1] k] 2 Columna 14 through 18
1 4 2 1 1 1 (3 [ 6 6 6
B=[100200;010000;,000001]"*
1 0 a % Tha controllabllity index is datermined by inspsction of WR
o 1 il rho=[2 2 2]
o] a a rho =
2 0 0 2 2 2
0 0 0
0 a 1 % Since the firat six columns of W ars indepandent, wa salact
Cs[102000;00000 1] theass for WA
1 0 2 1] 0 0 WA=[W (e, 1)y WO, 4) ' W{:,2)"; Wle, 85)'; W(:,3)'; Wi, 6)']"
0 ] Q 1] 0 1 1 1 a ] (] k|
4] 2 1 1 o 1]
W=ctrb(A,B) o & a 0 o 0
Columns 1 through 6 2 2 a 4] o 1
1 a a 1 v} 3 o] k] a 2 o 2
o] 1 [i} 2 1 0 4] 3 a 0 1 1
o] a Q 3 0 [¥]
2 L] 0 2 o 1 A Now for M. ..
0 L] 1} 3 2 2 Mmimw (HA)
v Li] 1 3 1} G M =
Columns 7 through 12 -0,2000 4] -0.1667 0.6000 0 0
22 4 10 162 28 0 0 4] D.1667 4] o a
28 5 5 164 35 &4 0,4000 1,0000 -0,0833 -0,2000 -0.5000 0
21 2 5 121 16 57 =0.4000 0 =-0.,2500 0.2000 0.5000 0
17 g 10 150 42 a5 -0.4000 0 -0.,5000 0.2000 0 1.0000
28 g 17 269 52 110 0.4000 0 o -0.2000 0 4
2L 2 7 130 25 54
Columns 13 through 18 % Picking the rows out of M, .,
1211 246 509 9435 1952 3953 Hl=M{rhe (1}, :)
1215 289 540 9458 2111 q222 ML -
L 1.38 250 479 7992 1728 is2e 0 0 0,.1887 4] o ]
1356 276 579 10317 2088 4344 M2eM {rho (1) +rho ({2}, :)
2002 348 833 145936 k4] 64451 M2 -
953 220 431 7444 1640 3z -0,4000 0 -0,2500 @.2000 0,5000 o
rank (W) H3=M {rhe (1) +rho{2) +xho (3), :)
[ Ml =
Q.4000 0 0 -0.2000 0 4
Page 1 of 2
MIMO Controllable Canonical Decomposition
ME EN 6210 - State Space Controls — Spring 2003
3/27/03
% How to form P inverss:
PI=[M1; M1%*A; HW2; H2*A; M3 H3*A]
PI =
a 1] 0.1667 a 1] a
[ 1] 0.3332 0.5000 0.1667 0
-0.4000 1] -0.2500 0.2000 0.5000 0
1.1000 1.0000 -0.4000 -0.5500 1.2500 -D.000g
0.4000 a 1} -0.2000 o a
0.4000 1] 0.4000 -0.2000 o 1.0000
P=inv(PI)
P =
-2.5000 1.0000 -0.33313 a 2.1667 i}
-1.3500 0.0000 -2.5000 1.0000 -5.2500 0.0000
6.0000 a i} a o L}
-5.0000 2,0000 -0.6667 -0.0000 -0,6667 -0.00040
1.0000 1] 2.0000 a 2.0000 a
-2.4000 1] -0.0000 Q -1l.0000 1.0000

% Now the controllable system matrices...
Ac=PI*A*P
Ao =
a.0004 1,0000 -0,0000 -0,0000 a,0000 -0,0000
2.13p00 31,5000 31,6667 0,3333 31,1667 0,8313
-0.,0000 a.,0000 o.0000 1.0000 a,0000 n.0000
17.6500 3.3500 0.8313 3.5000 -1.9167 5.2500
] a.0000 o.o00a0 a.0000 o 1.0000
5.1000 5.4000 l1.0000 -0,0000 2.3000 2.0000

Bo=PI*B
Be =
a a ]
1.0000 a 0
o a 0
a 1.0000 -0,0000
o Q 0
0 a 1.0000
ComC*P
Cc =
9.5000 1.0000 -0,3333 a 2.1667 a
-2.4000 a -0.0000 a -1.0000 1.0000

Page 20l 2
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% Example of deriving the canonical form for a MIMO system.

% ME 6210 - Spring 2003 - Mark Minor
A=[1 01 02 3;013120;002310;

10211 1]

1 0 1 0
0 ) 3 1
0 0 2 3
0 0 0 1
3 2 1 0
1 0 2 1
B=[1 002 00;01 0 00;0
1 0 0
0 1 0
0 0 0
2 0 0
0 0 0
0 0 1
C=[1 02000;00 0 0 1]
1 0 2 0
0 0 0 0
W=ctrb (A, B)
Columns 1 through 6
1 0 0 1
0 1 0 2
0 0 0 6
2 0 0 2
0 0 0 3
0 0 1 3
Columns 7 through 12
22 4 10 162
28 5 164
21 2 121
17 8 10 150
28 8 17 269
21 2 130
Columns 13 through 18
1211 246 509
1215 289 540
961 250 479
1356 276 579
2002 398 833
953 220 433
rank (W)

6

O Wdh = NN

o o

oONO OO

28
35
36
42
52
26

9035
9458
7992
10317
14936
7444

O MNEFEF OO W

=t

= N OO W

1]°

70
64
57
85
110
514

18252
2111
1726
2088
3200
1640

000141;

3953
4222
3528
4344
6451
3312

3210 3 2;
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for i=1:18
WR(i)=rank (W(:,1:1));
1 end;
WR
WR =
Columns 1 through 13
1 2 3 4 5 6 6 6 6 6
6 6 6
Columns 14 through 18
6 6 6 6 6

% The controllability index is determined by inspection of WR
rho=[2 2 2]

rho =

2

2

2

% Since the first six columns of W are independent, we select
these for WA

WA=[W(:,1)"

1

O oMo o

WwMhhoy NP~

W(:,4)"';

0

(oo ool

% Now for M...

M=i
M =

nv (WA)

-0.2000
0
0.4000
-0.4000
-0.4000
0.4000

W(:,2)"';

0

oOMNO O+
= O 0000

-0.1667
0.1667
-0.0833
-0.2500
-0.5000
0

% Picking the rows out of M...
Ml=M(rho(l), :)

M1

M2=M(rho(1l)+rho(2), :)

M2

0

-0.4000

0

0

0.1667

-0.2500

M3=M(rho(1l)+rho(2)+rho(3), :)

M3

0.4000

0

0

W(:,5)'"; W(:,3)';

3

= N = O O

0.6000
0
-0.2000
0.2000
0.2000
-0.2000

0.2000

-0.2000

-0.5000
0.5000

0.5000

W(:,6)"']"

1.000

o000 0o



% Now to form P inverse:

PI=[M1; M1*A; M2; M2*A; M3; M3*A]

PI =
0
0
-0.4000
1i.1000
0.4000
0.4000
P=inv (PI)
P =
-2.5000
-1.3500
6.0000
-5.0000
3.0000
-2.4000

% Now the controllable

Ac=PI*A*P
Ac =
0.0000
2.3000
-0.0000
17.6500
0
5.1000
Bc=PI*B
Bc =

1.0000

O oo

Cc=C*P
Cc =
9.5000
-2.4000

0
0
0
1.0000
0
0

1.0000
0.0000
0
2.0000
0
0

.0000
.5000
.0000
.3500
.0000
.4000

o wo Wwke=

1.000

(an s I N o Y o Y o

1.0000

0.
¢ 8
-0 ;
=

system matrices...

= O O o Wo
- = = = = »

1667
3333
2500
4000

0

.4000

3333
.5000

0

. 6667
.0000
.0000

.5000
.2000
.5500
.2000
.2000

0

.0000

0

.0000

0
0

0
0

0.1667
0.5000
1.2500

2.1667
-5.2500

-0.6667
2.0000
-1.0000

0.0000
3.1667
0.0000
1.9167

2.5000

2.1667
-1.0000

35e

o oo

1.0000

0.0000

-0.0000

1.0000

.0000
.8333
.0000
.2500
.0000
.0000

N OO OO

0
1.0000
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